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FACULTY OF COMMERCE
B.Com. (First Semester) EXAMINATION
MARCH/APRIL, 2018
FUNDAMENTALS OF STATISTICS AND MATHS
Paper 1
(MCQ + Theory)

(Friday, 23-3-2018) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—10+30=40
N.B. .— (1) Solve question No. 1 on OMR sheet during the first half hour.
(1) Question No. 1 and Question No. 2 are compulsory.
(111  All questions carry equal marks.
(iv)  Simple calculator is allowed.
() U AR 1 T oG HededrEl e, el qfean sl 9 de Ufgd.
() T HAG. 1 F 2 ¥ ANEE TR
(7)) HE UAAT FHHE O 3R
(fv) T ORI ATRTAH TAT ST
MCQ 10
1. 1) The word ‘statistics’ is derived from a French word .............. .
(A)  Statistique (B)  Status
(C)  Simple (D)  Statista
‘Statistics’ B I Thd WTERIE Il VRN TR el 3R,
(A)  Statistique (B) Status
(C)  Simple (D)  Statista
(2) The word statistics has been firstly used by ................... .
(A)  Boddington (B)  Gottfried Achenwall
(C)  Yule and Kendal (D)  Lovitt
TfEE & ey e T Tdgem ST
(A) St (B) TECHIE SIHAA
(C) I smfn Hed (D) ifege
P.T.O.
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If x =25, 2fdx = 40, n = 100, I = 10, then a = ?

A 29 (B) 39

(C) 19 (D) 49

S x =25, Xfdx = 40, n = 100, I = 10 W a = ?

A 29 (B) 39

(C) 19 (D) 49

What is the median of the following set of scores ?
2,4, 8, 6, 10

(A) 6 B) 8

() 10 D) 4

2,4, 8, 6, 10 =1 Harel AR IO 2

(A) 6 (B) 8

(C) 10 D) 4

Mean deviation is denoted by .................... .

(A)  Square root of delta (B)  Delta

(C)  Square of delta (D) None of these
e foee™ Siven AEm qeifaan ?

(A) S T (B) T

(C) e i (D) ! THE AR

The range of :

22,40, 27, 18, 45, 52 1S .ccceeeveeeeenns .

(A) 14 (B) 34
(C) 24 (D) 44
qelel Hiferehar fod ehrorar ?

miferent @ 22, 40, 27, 18, 45, 52 .....ccoe.e. :
(A) 14 B) 34
(C) 24 (D) 44
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Coefficient of correlation can not be ................ ¢

(A) More than 1 (B) Less than 1
(C) Equal to 1 (D) All of these
TGSy TR T 3T TR .

(A) THTET ST (B)  wHUET wHI
© T (D) =R wel
............................ produced the scientific mode of find out correlation
coefficient.

(A) Kenny (B)  Karl Pearson
(C)  Fisher (D) Galton
““““““““““ A TEEaY TUekTe IS g T
(A) AT (B) whred Toame
(C) frem (D) et

If there are two variables xand y, then the number of regression equation
could be :

A) 1 B) 3

C) 4 D) 2

SR x MUy § TF ¥eHh ATdA @ fhdl AfAwTH THEIO TR Qe 2
A 1 B) 3

C) 4 D) 2

In case of the ages of father and son correlation is .................. .
(A)  Positive (B) Negative

(C)  Zero (D) None of these

e d o ARAT FARIA TEEeY 3.

(A)  HHRHR (B)  THhRIcHSR

C) = (D)  ATURT THEl AT

P.T.O.
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Calculate mode from the following data :

Wages
(in %)
0—10

10—20

20—30

30—40

40—50

50—60

60—70

70—80

No. of Labourers

14
15
23
30
32
21
18
07

@eital Hifgdiaed Jfass wel :

wit
(F9ET)

0—10

10—20
20—30
30—40
40—50
50—60
60—70
70—80

14
15
23
30
32
21
18
07
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3. Calculate the standard deviation and its coefficient from the following
data :
Marks No. of Students
0—10 05
10—20 07
20—30 09
30—40 06
40—50 03
Tletel Afgdi=a SR a9 fo=ed 9 &= ok el
T faemeai<ft de
0—10 05
10—20 07
20—30 09
30—40 06
40—50 03
Or
(fenam)
Find out quartile deviation and its coefficient from the following data :
Wages No. of Workers
(in %)
20—30 10
30—40 12
40—50 15
50—60 20
60—70 22
70—80 13
80—90 03
P.T.O.
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Tl Hifgdiea STER wqede fa=em offn &= o wrel -
it et
R PIG] &
20—30 10
30—40 12
40—50 15
50—60 20
60—70 22
70—80 13
80—90 03

Calculate the Karl Pearson’s coefficient

data :

x
23
27
28
29
30
31
33
35
36
39

of correlation from the following

10
Y
18
22
23
24
25
26
28
29
30
32

Use ‘30’ and ‘25’ as assumed mean of x and y series respectively.
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o

Tt Hifediaed el IR ar=1 9egey U Fel :

X J
23 18
27 22
28 23
29 24
30 25
31 26
33 28
35 29
36 30
39 32

‘g’ amfor ‘I’ HIREET AR 307 MU 25 TR Wied ST

Or
(fenam)
Given :
x y
Mean 06 08
Standard Deviation 05 13

between x and y is 0.64.

Find regression equation y on x and estimates the value of y when x

is 100.

P.T.O.
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x y
e 06 08
g9 forere 05 13

x S0y #efiel = qoI 0.64.
GfqTE FHERT y on x TR HEA y I oI HEl x 9 Ted 100 o o

A—T72—2018 8
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